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[ Relation between fand 0|

£=r0

where © is in Radian, ¢ and r measuredinterms of same unit.

Conversion of Degree < Radian
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{sin2 0=1-cos’0

1.sin*0+cos’0=1 \ ,
cos"0=1-sin"0

20 _ 2
2.1+tan’0=sec’® or tan’6=sec 6-1
sec’0—tan’0=1

t“0= 0-1
3.1+ cot”>0 =cosec’0 or {co cosec’

cosec’0—cot’0=1
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1.81n20 =2sinBcosO

cos’0—sin’0

2.c0s20=< 2cos’6-1
1-2sin®0
3.tan20 = M
1—tan®0

Triple Angles Identities

1. sin30=3sin0—4sin®0

2. cos30=4cos*0—-3cosH
_ 3

3. tan 30 — 3tanO0—tan° 0

1—3tan®0

2sinacosp =sin(a+p)+sin(a—p)
2cosasinB =sin(a+p)-sin(a—p)
2cosacosp =cos(a+B)+cos(a—p)

—2sinasinp = cos(a +p)—cos(a—B)

Feos( 457
7 Jsin(*57)
57 Jeos 57)

. cosA—cosB=_2Sin(A;Bjsin(A;Bj

sinA+sinB=2sin(A+

. sinA—sinB=200s(A+

. cCoOsA+cosB= 2005(

Values of Trigonometric Functions | Functions Domain Range
0 oo | s0c | a5c | 60 [ 90° y=sinx| —o<x<+40 | “1<sy=<1
: 1 V2 J3 y=¢€0SX| —00< X <400 -1<y<1
sin O E — -~ 1
2 2 —00 < x < 400
cos 1 3 V2 1 0 y =tanx (2n+)m —0 <y < +oo
2 2 2 .
1
tan 0 7 1 J3 00 —o < x <+
3 y = cotx (n+1)m —o <y <+
Fundamental Laws of Trigonometry 2
- Si = si i —00 < x <+
1.sin(a +B)=sinacosP + cosasinp ) = secx yrlory< -1
2. sin(a—B) =sinacosp - cosasinp X # nn
. . —o<x <+
cos(a+B) cosocosf —sinasinf y =cscx . y=>1lory<-1
X # nm
s(a B) cosacosf +sinosinf Period of Trigonometric Functions
tana + tan i :
5. tan (o +p) = p Function Period
1-tanatanf sinaf, cosa® 9
6. tan(a—B)= tano —tanf cscaf , secaf a
1+tanatanf tana0, cotad T




The Law of Sines |

a b ¢
sina sinf siny
The Law of Cosines

1. a’=Db’+c®>-2bccosa
2. b’=c’+a’-2cacosp
3. c’=a’+b’-2abcosy
The Law of Tangents
q—
t —_
1. a—b= an\ 2 ]
a+b n(a+[3
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2
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. s—b)(s-c

1. 51n_=\/( l))f} )
2. sinE=\/(s—C():£lS—a)
3. sin%: \/(S_azf)s_b)
4. cosZ = s(s—a)

2 be
S. COS— = S(S_b)

2 ca
6. cosl= s(s-c¢)

2 ab

o s—-b)(s-c
7. tan; = \/( S(S)_ a) )
8. tan% = \/(s ;((:S)Esb_) a)
sl ol

Area Of Triangles

1. A =lbcsina = lcasin[} =labsiny
2 2 2

a’sinBsiny b’sinysina c’sinasinf
2sinf

2. A

2sina 2siny

a+b+c

3.A=\/s(s—a)(s—b)(s—c) where s= >

1. R-_2 b _ c
2sina  2sinf 2siny
R=abc
| marae |
A
r==—
s
Escribed-Circle (r, r,, r;)
S
' s—a’ > s-b’ " s—c

1.gn4A+snrﬂ3=gn4(AJ1—B2+BJ1—A2)

2&h{HA—ﬁn*B=sh{%AJ1—B2—BJl—Aﬂ

3.cos' A+cos” B=cos™ (AB—\/(I— A2)(1— B2))

4.cos' A-cos' B=cos™ (AB+ \/(1—A2)(1— B2))

5.tan' A +tan'B=tan™ A+B
1-AB
6.tan’ A-tan'B=tan™ A-B
1+ AB
2A
7-2tan” A=tan™'
an an (1—A2

Function Domain Range
T T
y = sinx —ESxSE -1<y<1
T T
y=sin"1x -1<y<1 —nggi
Yy = COSX 0<x<m -1<y<1
y=coslx| —-1<y<1 0<x<m
=t 7t< <1t R
y = tanx 7 <*¥<5
— -1 R _E<x<f
y=tan"'x 2 2
y = cotx 0<x<m R
y=cotlx R 0<x<m
T
y = secx [O,n],x;ti y<-lory=1
T
y=seclx |x<-1lorx=>1 [O,n],y;ti
= CcSCX [—E E]x;tO <-lory=1
Yy = 272; y= y=
y=csclx | x<-1orx=>1 [—E E]yqto
— — 2I2I
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